
Year 10 Summer 2025 
Mock

Paper 2 Anglo-Saxon and Normans



x

1a) and b) Describe ONE features of… (2 marks) 

X2
• Ee X 2
• 5 minutes on each
• AOL: 2 marks → Knowledge

2) Explain why….. (12 marks)

• 15-20 minutes
• PeEeEeEL x 3
• AO2: 6 marks → EXPLANATION
• AO1: 6 marks → KNOWLEDGE
• Must try and go beyond stimulus to access top 

marks!
• What is the most important reason? 
• Volcab: ‘the most important reason/factor’, 

‘significant impact on’, ‘led to’, ‘resulted in’, ‘ in 
the long term’, ‘in the short term’.

• Simple summary judgement
• Try to include sparkly specific piece of evidence 

in each paragraph. 

NORMANS→  32 marks- 60 minutes 
2

1 (b) Describe one  feature of  …

1 (b) Describe one  feature of  …

EXEMPLAR 
PAPER



3 or 4. THE HOW FAR DO YOU AGREE (16 marks)

• 25- 30 minutes 
• AO2: 10 marks→ EXPLANATION/ ANALYSIS 
• AO1: 6 marks → KNOWLEDGE
• Answer (c) OR (d) NOT BOTH → indicate which you 

are answering!
• Agree PeEeEeEL
• Disagree PeEeEeEL x 2
• What is the most important reason? 
• Volcab: ‘the most important reason/factor’, 

‘significant impact on’, ‘led to’, ‘resulted in’, ‘ in the 
long term’, ‘in the short term’.

• Must try and go beyond stimulus to access top marks!
• JEON conclusion VERY important for A02!!
• Try to use sparkly specific piece of evidence in each 

paragraph.
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3 4

3 4



Anglo-Saxon/Norman England
• 1051 –Edward the Confessor promises William the throne.

• 1053 – Harold Godwinson becomes Earl of Wessex.

• 1064 – Harold’s Embassy to Normandy

• 1065 – Uprising against Earl Tostig. Tostig Exiled.

• 1066 – Battles of Gate Fulford, Stamford Bridge and Hastings

• 1068 – Revolt of Earls Edwin and Morcar

• 1069-2 Northern Revolts

• 1069-70 – Harrying of The North

• 1071 – Hereward the Wake

• 1075 – Revolt of The Earls

• 1070 – Stigand replaced by Lanfranc as Archbishop of Canterbury.

• 1077-1080 Revolt of Robert Curthose

• 1084 – Heavy Geld Tax Levied

• 1085 - William starts Domesday book to defend from Vikings

• 1086 – First drafts of Domesday book shown to William. 

• 1087 – Death of King William I. William II (Rufus) now king.

• 1088 – Odo leads a rebellion against William Rufus



Question

1 (a) Describe ONE feature of ….

Target: Knowledge of key features and characteristics of the period.

AO1: 4 marks.

Marking instructions

Award one mark for each valid feature identified up to a maximum of two features. The second 
mark should be awarded for supporting information.







Exemplar: Describe ONE feature of 
earldoms in Anglo-Saxon England. 

• A feature of the Saxon earldoms was their economic role. 

• The earls were responsible for collecting the taxes of their earldom and they received a 
share of all revenue collected. This share was very large- a third- and it meant that the 
earls were rich.  Earldoms had burhs where markets were held and money could be raised. 
They were supposed to use this economic power to ensure their earldom was well 
defended and well run.

• A feature of the Saxon earldoms was their military power. 

• They were the lords to many hundreds of thegns who had to do 40 days military service 
for the king. The earls also maintained an elite bodyguard of professional soldiers called 
housecarls. The king therefore used his earls like generals: they were his military leaders 
against the king’s enemies. 

• A feature of the earldoms was their legal functions. 

• Most types of crimes came under their jurisdiction (the things that they were responsible 
for) although only the king could make new laws. The earls had to enforce the laws. This 
gave the earls strong social powers: controlling and influencing the way people lived.



Question

1 (b) Describe ONE feature of ….

Target: Knowledge of key features and characteristics of the period.

AO1: 4 marks.

Marking instructions

Award one mark for each valid feature identified up to a maximum of two features. The second 
mark should be awarded for supporting information.



Odo
1. Odo was William’s half brother – they had the same Mother, 

Herleva. 
2. In 1049, William made Odo Bishop of Bayeux, even though his 

reputation was very poor – he was greedy and immoral 
(Bayeux was an important Norman town).

3. Odo was a major supporter of William’s invasion, contributing 
100 ships to the fleet, and fought at the Battle of Hastings.

4. William rewarded him with the earldom of Kent and gained 
control of many other estates to become the second largest 
landholder in England, after the king. 

5. Odo was made co-regent of England (with William 
FitzOsbern) when King William returned to Normandy.

6. 1076 – a 3 day enquiry was held following complaints to 
Lanfranc about land seizures by Odo. Odo was forced to 
return the land.

7. 1079 – William sent Odo to Northumberland, following 
attacks from Scotland and the murder of the Archbishop of 
Durham – Odo laid waste to the region.

8. 1082 – Odo fell out of favour with William and was 
imprisoned. He was not released until William’s death, after 
Odo’s brother managed to persuade William to show mercy. 

Historians don’t know why he got into trouble- probably due to his 
corrupt behaviour or tried to take the throne. Odo tried to take 
some of William’s knights out of England for a journey to Rome 
after he saw an opportunity to make himself Pope. This went 
against centralised power and knights service. No tenant-in-chief 
was allowed to put their own army together!
10.     1088 – Odo led the barons in revolt against William II

Significance of Odo:

• William’s most trusted supports were 
his family members, they were richly 
rewarded.

• Odo and Earl William FitzOsbern 
made it hard to gain Anglo-Saxon 
acceptance of his reign with their 
violent and oppressive actions.

• King William allowed Odo a lot of 
power;  he was able to act as a 
‘second king’. Odo went too far in his 
abuse of power (in the end), but 
probably only because he crossed 
Lanfranc: it isn’t likely that many 
Anglo-Saxons who lost land to Odo 
ever got it back. 

• If Odo was imprisoned because of 
taking knights from William,that 
shows how seriously William took the 
idea that knights were loyal only to 
him, the king and that no one was 
above the law.

• The pope reprimanded William for 
imprisoning one of his bishops, Odo. 





Question
2 Explain why …

Target: Analysis of second order concepts: causation [AO2]; 
Knowledge and understanding of features and characteristics 
[AO1]. AO2: 6 marks.

AO1: 6 marks.
Level Mark Descriptor

0 No rewardable material.

1 1–3 • A simple or generalised answer is given, lacking development and organisation. [AO2]

• Limited knowledge and understanding of the topic is shown. [AO1]

2 4–6 • An explanation is given showing limited analysis and with implicit or unstained links to the conceptual focus of the question. It 
shows some development and organisation of material, but a line of reasoning is not sustained. [AO2]

• Accurate and relevant information is included, showing some knowledge and understanding of the period. [AO1]

3 7–9 • An explanation is given, showing some analysis, which is mainly directed at the conceptual focus of the question. It shows a line 
of reasoning that is generally sustained, although some passages may lack coherence and organisation. [AO2]

• Accurate and relevant information is included, showing good knowledge and understanding of the required features or 
characteristics of the period studied. [AO1]

Maximum 8 marks for answers that do not address three or more aspects of content.

4 10–12 • An analytical explanation is given which is directed consistently at the conceptual focus of the question, showing a line of 
reasoning that is coherent, sustained and logically structured. [AO2]

• Accurate and relevant information is precisely selected to address the question directly, showing wide-ranging knowledge and 
understanding of the required features or characteristics of the period studied. [AO1]

No access to Level 4 for answers that do not address three or more aspects of content.



Importance of castles

1. How many castles did William build during his reign?

2. According to historians, how long did Motte and Bailey castles take to build?

3. What was a strategic location for the Normans?

4. Why were castles useful for the Marcher earls?

5. Why were castles built in towns like Nottingham and Lincoln?

6. Why were castles a symbol of Norman power?

1. It is estimated that 500 castles were built in William’s reign. 

2. 4-9 months. The design of Motte and Bailey Castles made them quick to 

build and difficult to attack.

3. Castles were built in strategic locations- for example, at river crossings or near passes 

through mountains or hills. Marcher Earls built castles along the border with Wales.

4. They were used as a military base by the Lord of the area. The Marcher Earls launched invasions 

into Wales from castles like Chepstow in South Wales. If troops were beaten back, they could take 

refuge in the castle and then launch a counter-attack.

5. They were used to dominate territory newly brought under Norman control. These castles were often 

built in towns such as Exeter, Warwick, Nottingham and York to help against unrest in these areas.

6. They were a symbol of Norman power- everyone could see them 

towering over them and constantly reminded people of who ruled them.



The Marcher Earldoms 
Key Feature Details How does it help William?

Shire- sized, centre on shire town

Special privileges to create settlements

Granted the full power of the law

Exempted from tax

The right to build castles

Marcher Earldoms were smaller and more 
compact

Made them easier to control. Also 
ensured they were not as powerful as 
the King.

Helped the earls to attract Normans to 

settle there- colonisation.

Gave their Earls the rights that usually only a King 
had: to create boroughs (towns) and markets and 
to establish churches (replacing AS ones.)

Marcher Earldoms→ sheriff worked for the 
Earl not the King..

Gave complete control over legal 
system as the Sheriffs controlled the 
Shire Courts. Earls given power to 
respond to unrest quickly and firmly

Marcher Earls did not have to pay tax unlike 
the earls in the rest of England. 

To reward loyalty and encourage the 
earls to spend out on new settlements 
and defences.

Marcher Earls were free to build castles 
wherever they were needed. 

Used to control and launch attacks on 
Wales.



REVOLT LEADERS/CONSPIRATORS WHY IT STARTED KEY  EVENTS OUTCOME REASON

1068

EDWIN AND MORCAR

• Earl Edwin of Mercia
• Earl Morcar of Northumbria
• Edgar Aethling
• Earls Waltheof and Gospatric

Edwins and Morcar’s resentment, 
Bad government, taxes, castles, 
loss of land

Edwin and Morcar fled from 
William’s court.
Went North and were joined by 
others incl. Waltheof and Edgar
William took his troops up North 
building castles as he went e.g. 
Warwick and Nottingham

Edwin and Morcar surrendered 
quickly once control of Warwick 
est. Kept as ‘guests’ at his court 
(escaped again in 1071!). York sent 
hostages to William. Edgar fled to 
Scotland

E and M surrendered
Edgar fled north W’s awesome 
show of power convinced many 
not to rebel
Rebels not united by a common 
cause

JAN/SPRING 1069 

DURHAM AND YORK

People of Durham and York
Edgar Aethling

Discontent amongst Saxons due to 
their harsh treatment by the 
Normans esp. Robert Cumin 

Jan 1069 Cumin took a large force 
north, launching attacks as he 
went. Northumbrians slaughtered 
Normans in the streets. Cumin hid 
in bishop’s house but set fire to it

Uprising spread to York – governor 
and Norman troops killed. Edgar 
came down and attacked Norman 
sheriff and his garrison. Normans 
held out in York castle until William 
arrived very quickly with troops. 
Burnt York and rebuilt it with new 
castle and FitzOsbern in charge. 
Will went back to Winchester to 
celebrate Easter

William acted quickly and 
ruthlessly
Lack of leadership and support

SUMMER/AUTUMN 1069

THE NORTH

• Edgar
• King Sweyn of Denmark

Danes felt that the chances of a 
successful invasion were good 
because Will seemed vulnerable

Danes met up with Edgar’s troops 
Sept on East Coast
Anglo Saxons across England joined 
Edgar
Normans marched on York and 
accidentally set fire to city so went 
out to meet A- S army and cut to 
pieces 3,000 dead Normans, both 
castles destroyed and Danish 
plundered 
Guerilla warfare 
Lincolnshire swamps- sea battle

Burning of crops, destroying seeds 
and killing livestock

Danes paid off
Defeated by William who had 
launched the ‘Harrying of the 
North’ as punishment

1070-71 EAST ANGLIA • King Sweyn of Denmark
• Hereward the Wake

Hereward’s brother was murdered 
by Normans and his family’s land 
was taken

Hereward and Danish allies seized 
Peterborough Abbey’s treasure 
(Saxon abbot had been replaced by 
a Norman)
Hereward  and allies held the island 
of Ely for a year
1071 Morcar joined the rebels 
(Edwin had been murdered)

William dealt with rebellion himself
William bribed the Danes
William built a bridge but it 
collapsed
2nd bridge made by tying boats 
together
Morcar surrendered imprisoned for 
life
Hereward escaped
Rebels had hands and feet cut off

Danes were not loyal allies
Hereward lacked support 
No real plan
William determined and good 
leader









Question

3 How far do you agree? Explain your answer.

Target: Analysis and evaluation of second order concepts: significance [AO2]; 
Knowledge and understanding of features and characteristics [AO1].
AO2: 10 marks.

AO1: 6 marks.

Level Mark Descriptor

0 No rewardable material.

1 1–4 • A simple or generalised answer is given, lacking development and organisation. [AO2]

• Limited knowledge and understanding of the topic is shown. [AO1]

• The overall judgement is missing or asserted. [AO2]

2 5–8 • An explanation is given showing limited analysis and with implicit or unstained links to the conceptual focus of the question. It shows some development and organisation 
of material, but a line of reasoning is not sustained. [AO2]

• Accurate and relevant information is included, showing some knowledge and understanding of the period. [AO1]

• The overall judgement is given but its justification is asserted or insecure. [AO2]

3 9–12 • An explanation is given, showing some analysis, which is mainly directed at the conceptual focus of the question. It shows a line of reasoning that is generally sustained, 
although some passages may lack coherence and organisation. [AO2]

• Accurate and relevant information is included, showing good knowledge and understanding of the required features or characteristics of the period studied. [AO1]

• The overall judgement is given with some justification, but some criteria selected for the required judgement are left implicit or not validly applied. [AO2]

Maximum 11 marks for answers that do not address three or more aspects of content.

4 13–16 • An analytical explanation is given which is directed consistently at the conceptual focus of the question, showing a line of reasoning that is coherent, sustained and 
logically structured. [AO2]

• Accurate and relevant information is precisely selected to address the question directly, showing wide-ranging knowledge and understanding of the required features or 
characteristics of the period studied. [AO1]

• Criteria for the required judgement are justified and applied in the process of reaching the overall judgement. [AO2]

No access to Level 4 for answers that do not address three or more aspects of content.



Causes for a rivalry to the throne
1. English customs about the succession

There were no set rules over who would become the next King if there was a peaceful succession (not taken over in war). It was helpful if you were a blood relative of the king, but this was not necessary. Also, it was 

important that you were identified by the past king as his successor, and that you were accepted as king by the English nobles. Ideally the next king would be the son or close relative of the last king, but this depended 

on the individual. If he was a child, a criminal, lacked support or had no military experience then the Witan would need to discuss this.

2. King Edward died without a strong heir

King Edward and his wife did not have any children. This meant that Edward did not have a direct heir to the throne who could inherit the throne. However, Edward did have a male relative who could be identified as an 

heir. This was his great nephew, Edgar Aethling. In the late 1050’s King Edward might have thought about identifying Edgar as his successor, but he had changed his mind by his death in 1066. There are two reasons why 

Edward and his lords did not think Edgar would be suitable for the throne. Edgar was only about 14 when Edward died and would not provide strong military leadership against invasions. Also, he did not have any 

supporters amongst the earls, instead they supported Harold Godwinson.

3. King Edward’s attitude to the succession

As Edward was King for over 20 years, it is natural that he would change his mind over this period for who he wanted to be his successor. Because of this, Edward may have promised multiple people the crown over his 

reign which created uncertainty when he died. 

In around 1051 Edward promised William of Normandy the crown as his mother was a Norman and he had spent 20 years in Normandy during his youth as he was exiled there. Also during 1051, Edward had argued with 

Harold Godwinson’s father and it is possible that he did not want the Godwins’ to take the throne. It has also been claimed that in 1064, Edward the Confessor sent Harold Godwinson to Normandy to promise William 

the throne once again, but we cannot be sure whether this happened.

English sources tell us that Edward ‘granted’ the kingdom to Harold, and ‘entrusted to realm’ to Harold and asked him to protect his wife Edith, and the kingdom. This however was not a public event and some people 

have questioned whether protect and rule are the same thing. We will never know who he promised or who intended to be king when he died.

4. The nature of Harold’s succession

 There are no records of the meeting of the Witan after Edward the Confessor died so we do not know exactly why he supported Harold Godwinson, but it happened extremely quickly. Edward died on the 5th of January 

1066, and Harold Godwinson was crowned King of England on the 6th of January in the same ceremony as Edward’s funeral. Sources suggest that some people were unhappy with how fast Harold was crowned King but 

there was no strong opposition to stop Harold from being crowned.

5. The claim and motives of Harald of Norway

Harald Hardrada was King of Norway, and had a lot of military experience during his rule. He had also formed an alliance with Tostig Godwinson to invade England and become the new king. Hardrada claimed that an 

agreement was made with his and Edward’s grandfathers that if one of them died childless the other would take their throne. Harald was using this as the basis of his claim.

6. The claim and motives of Normandy

William was an experienced and respected ruler in Europe, and by becoming the King of England he would further cement his power. He argued he was promised the throne in 1051 & 1064, as well as the fact that 

Archbishop Stigand was corrupt and therefore Harold Godwinson’s coronation was not legal.

7. The wealth of Anglo Saxon England

England’s wealth came from farming. Trade in precious metals and cloth was flourishing and from people's skills making jewellery, gold and silver objects. Burghs were well established and traded with Scandinavia and 

Europe.  Gaining this wealth must have been a major reason for people to want to be king. Geld tax system = efficient and established. Shire reeves collected taxes and earls ensure implementation because they kept a 

third. 



Question

4 How far do you agree?

Target: Analysis and evaluation of second order concepts: causation [AO2]; Knowledge and understanding of features and characteristics 

[AO1].

AO2: 10 marks.

AO1: 6 marks.

Level Mark Descriptor

0 No rewardable material.

1 1–4 • A simple or generalised answer is given, lacking development and organisation. [AO2]

• Limited knowledge and understanding of the topic is shown. [AO1]

• The overall judgement is missing or asserted. [AO2]

2 5–8 • An explanation is given showing limited analysis and with implicit or unstained links to the conceptual focus of the question. It shows some development 
and organisation of material, but a line of reasoning is not sustained. [AO2]

• Accurate and relevant information is included, showing some knowledge and understanding of the period. [AO1]

• The overall judgement is given but its justification is asserted or insecure. [AO2]

3 9–12 • An explanation is given, showing some analysis, which is mainly directed at the conceptual focus of the question. It shows a line of reasoning that is 
generally sustained, although some passages may lack coherence and organisation. [AO2]

• Accurate and relevant information is included, showing good knowledge and understanding of the required features or characteristics of the period studied. 
[AO1]

• The overall judgement is given with some justification, but some criteria selected for the required judgement are left implicit or not validly applied. [AO2]

Maximum 11 marks for answers that do not address three or more aspects of content.

4 13–16 • An analytical explanation is given which is directed consistently at the conceptual focus of the question, showing a line of reasoning that is coherent, sustained 
and logically structured. [AO2]

• Accurate and relevant information is precisely selected to address the question directly, showing wide-ranging knowledge and understanding of the required 
features or characteristics of the period studied. [AO1]

• Criteria for the required judgement are justified and applied in the process of reaching the overall judgement. [AO2]

No access to Level 4 for answers that do not address three or more aspects of content.



Explain why did Robert revolt against his father  1077- 1080. 12 marks

P1=William didn’t give Robert 
political power

P2= William’s personal dealings 
with Robert

P3= William Rufus’ and Henry’s 
actions

E1= Matilda was regent of 
Normandy and Odo/Lanfranc of 
Britain

E1= William called Robert by his 
nickname ‘Curthose’= ‘Fat legs’

E1= Rufus and Henry urinated on 
Robert and friends

E2= William’s refusal to publically 
name Robert his heir to both 
Normandy and England

E2= William belittled Robert in 
front of key nobles. ‘Drove Robert 
away with ‘jeers in that terrific 
voice’

E2= Rufus was closer to William 
than Robert

E3= Damaged Robert’s reputation 
and nobles might shift allegiance to 
Rufus

E3= William didn’t take Robert’s 
side when Rufus started a fight with 
him

E3= Robert was jealous that William 
would inherit England and 
Normandy



Explain why did Robert revolt against his father  1077- 1080?

• P) One key reason for Robert revolting against his father 1077-1080 was due to his anger about William not giving him 
political power. (e )One example of William not giving him political power was his refusal to make Robert a regent in either 
Normandy or England. (E )WilIiam chose his wife, Matilda to act as regent in Normandy and his half-brother Odo or Bishop 
Lanfranc in England while he was absent in either country. (e ) Another example of William not giving him political power 
was his refusal to publicly name Robert as his heir for both his kingdoms, England and Normandy. (E ) This angered Robert 
as he thought William was slighting and humiliating him because it was Norman tradition for the eldest son to inherit all 
his father’s titles. (e) Another problem Robert faced of William not giving him political power was the damage to his 
reputation. (E ) Norman nobles might decide to shift their allegiance and support to William Rufus if they believed that 
Rufus was to be William’s chosen heir which would weaken Robert’s long-term chances of being King of England or the 
Duke of Normandy. (L) To conclude, William decision not to give his eldest son, Robert, any political experience was the 
key reason for his growing resentment which led to revolt in 1077.

• (P) Another key reason for revolt was William’s personal dealings with Robert which left Robert feeling belittled and angry. 
(e ) One example of William annoying Robert was William calling him by his nickname. (E) William called him ’Curthose’ 
which meant ’short boots’ or ‘fat legs’ which annoyed Robert who believed he was not being shown the respect he was 
warranted as the eldest son. (e )Another example of William annoying Robert was when he belittled him in front of key 
Norman nobles. (E ) William publicly refused to let Robert rule Normandy and according to a chronicler drove Robert away 
’with jeers in that terrific voice’. (L) To conclude, William’s personal view that Robert was spoilt and foolish and unfit for 
kingship, was shown publicly in his relations with Robert which only stoked Robert’s resentment further.

• (P) The immediate reason for revolt was the actions of William Rufus and Henry towards their brother. (e ) In 1077 William 
Rufus and Henry urinated onto the heads of Robert and his friends from a first floor gallery which turned into a massive 
brawl which was only stopped by the intervention of William. (E) Robert was very annoyed that William did not punish his 
brothers and fled with his supporters to try and take control of Rouen castle. (e ) Robert was also angered that his brother 
William Rufus was growing in closeness towards his father. (E ) Robert was jealous and worried that William Rufus might 
usurp him as the next ruler of England and Normandy. (L) To conclude, Robert’s insecurities were further heightened by 
William’s treatment of William Rufus and the prank provoked Robert into outright rebellion in 1077.
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